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PROFESSOR WALTERS
cc Paul Gray
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INTERVENTION AND STERILISATION

Could I offer a few comments and guestions on your minute to
Mr Gray of 11 July.

I agree with your main conclusion that the dominant influoence
in 1987-88 {and in my view =2ven before that) was that interest
rates were too low: given the demand and ianflation rate

pressures, so any differences are second order ones.

[ The discussion in the first half of vour note
dafines sterilisation in relation to the money markets,
wheraas tha Treasury defines it in terms of funding, ie
gales of gilts to the non-bank, non-building society
private sector suificient to cover the PSBR/PSDR plus
changes in foreign oxchange holdings. Thus, in their
framework, the counterpart to higher reserves held by the
public sector is not lower holdings of bills but higher
gilt=-edged liabilities. In their system, intervention of
€X million leaves the banks' assets and liabilities
unchanged; the public sector's holdings of foreign
gxchange ap by €X million and it= debt np by £X million;
and the private sector's holdings of gilts up by €X
millian and its holdings of forelgn exchange down by

EX million.

ii. In the first full paragraph on page 2, you say that
gkerilized iptervention does not keep tha axchanga rate
from rizing. It i= not clear why this should be go.
Suppose we start from a position of equilibrium where the
interast rates are keaping mopstary growth closse to the
authorities' targets, and the exchange rate is showling no
tendency to move one way or the other. Suppose there is
then an incraase 1n demand for sterling, The Govaernment
could attempt to hold tEhe exchange rate by inkervention,

sterilising this by selling more gilts. The position is
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then that the supply of sterling assets has been
increased to match the increase in demand for sterling
assets. The Government could short-circuit this process
by selling gilts for foreign exchangs. Why should this
not prevent the exchange rate from rising? Why should it
not be possible to sustain this indefinitely? 1 agres
that it is difficult for the authorities teo asssas
whether an increase in demand for sterling ies krangitory
orF parmanant, but as a matter of theory I do not saa why
it should not be possible to heold the exchange rate
indefinitely. This is of course possible anly when
sterling 18 rising as the opposite process comes to an

and whan rasarvas have baen exhausted.

iii. At the bottom of page 2, yon say that sterilised
lntervention is likely to increase the downward slope of

the yield curve. In the Treasury's view of the world, it

steepens the yield curve because the supply of gilts is

being increased relative to short-term asset=.

iv. AL the top of page 3, vyou said that unsteriliszad
irktervention contributed to the nmonetary growth in
1987-88. The Treacury maintain that intervention was.
aother than over very short periods, sterilised throughout
this period. How then was it econtributing to monetary

growth?

2 At the top of page 4, you state that iEf sterilised
intervention has a positive effect it is only ephemsaral.
As indicated in ii above, I do not understand why this

should be so.

ANDREW TURNBULL
16 July 1989

CONFIDENTIAL




